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Giorgio Armani Hospital Bills First Names Designers Islands
$1100
Hugo Boss
$1300
Versace $1820
$2270

1. The person with the vacation home on the island of Saint Martin didn't wear Versace.

2. The patient with the $2270 hospital bill is not Guadalupe.

3. Kailyn owes more money than the person with the vacation home on the island of Saint Martin.

4. Of Ariana and the V.I.P. who wore Versace, one owns vacation property on the island of Saint Martin and the other
owns vacation property on the island of Barbados.

5. The person with the vacation home on the island of Barbados is not Brian.

6. The patient with the $1300 hospital bill wore Hugo Boss.

7. Ariana owes more money than the V.I.P. who wore Burberry.

8. The patient with the $2270 hospital bill owns vacation property on the island of Martinique.

9. Either the V.1.P. who wore Burberry or the V.I.P. who wore Versace is Brian.
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